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G SR 3 8. (a) Explain market failure? What are the different

sources of market failure? ; 4)
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(b) Each of the residents of a small town/likes

1. (a) What do you understand by the production fireworks and places a value of Rs. 1000 on the

possibility frontier? How is the point below : - experience of a fireworks show in Exhibition

and above the production possibility frontier grounds of the town. On its founding day

different. from the points on the frontier celebrations. The fireworks show would cost Rs 6

9 ’ o e )
STEYE Lakhs. Is it efficient for them to have the fireworks

(b) Differentiate between efficiency and equity? Why show? If Mr. X does not give any money in a

: i -off b il
do policy makers often face trgde 9 Sl voluntary contribution scheme, what term could

efficiency and equity? . : : J _
we use to describe him? Can a private firm supply

(c) Differentiate between Positive and normative the Frewarks display on tounding dug) 8)

economics. (6,6,6)
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(c) Explain the absolute and comparative advantage
in trade with an appropriate example?

- (6,6,6)
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What do you mean by externalities? Is it true that
private allocation is over-provides in the presence of
negative externality and under-provides in the presence

of positive externality? Explain. L 06,129
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2. (a) Explain the price elasticity of demand? Also

explain the Factors which influence the price

clasticity of demand?

Point Price Quantity
A i 100
B 6 200
0 5] 250
D 4 500
E 3 650
F 2 750
G 1 800
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(b) From the above given market demand schedule
calculate the price elasticity of demand from point
C to F, from F to C and midway between C and
F? (12,6)
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g A A=
A 7 100
B 6 200
G 5 250
D 4 : 500
E 3 650
F 2 750
G 1 800
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(i) 19 I
(i) 1% *A
(iii) 1 & SR
(a) In trade if a country-impose tariff on import what
would be the impact on consumer and producer

surplus, government revenue and total surplus

explain with diagram?

(b) If a country export goods in international market
explain through diagram the loss and gain of the

country?
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5. (a) On what factors does the incidence of tax between
buyers and sellers depends upon’ explain with

diagram?

(b) Explain with diagram how an increase in price
affects the total revenue when price elasticity of

demand is
(i) greater than 1
(i1) less than 1

(iii) equal to 1 (12,6)
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% i(a) Iarva demand-supply diagram explain Why
equilibrium quantity in competitive market is

efficient in terms of social welfare?
(b) Given following demand and supply curves :
Q, = 500 - 5p; Qs = 5p + 100.

A tax of Rs. 10 per unit bought is imposed on

buyers. Find the following :
(1) price paid by the buyer
(i) price received by the seller

(iii) quantity traded (12,6)
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Qy = 500 — 5p; Qs = 5p + 100.
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4. (a) Consider the following action by the government
and its impact on economy :

(i) If a minimum price is set above the

equilibrium price

(ii) If a maximum price is set below the

equilibrium price

(b) Suppose in year 2023 due to good monsoon the
production of rice has increased as compared to
year 2022. Answer the following in this situation

with an appropriate diagram :
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(i) What will be the equilibrium quantity and
price in rice market in 2023 compared to

20227

(ii) Given that inelastic demand of rice what
will be the impact of increase production

oni farmers income? (12,6)
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